C00 - Collar, Sprocketlock

e B T—
Front View Side View Top View
Parts Table Dimension Table
Qty | Code | Name Dimension A B
11813 | Collar 1 Inches 1.65 | 0.98
1 {814 |Collar 2 Millimetres 42 25
1 | AO4 | Plug, Sprocketlock
1 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw
1 | T80 | Sprocket

Assembled View

Disassembled View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

For All Walks of Life

promensid ol

customerservice@promenaid.com
https://promenaid.com




C05 - Bend, Sprocketlock, 5-Degree

(TN

[T TN

Front View Side View Top View
Parts Table Dimension Table
Qty | Code | Name Dimension A B
815 | 5-Degree Bend 1 Inches 1.65 | 12.72
817 | 5-Degree Bend 2 Millimetres 42 323

FO05Z [ M5 0.8 x 16mm Socket, Cap Screw

1
1
1 | AO4 | Plug, Sprocketlock
1
1

T80 | Sprocket

Assembled View

Disassembled View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

For All Walks of Life

promensid ol

customerservice@promenaid.com
https://promenaid.com




C14 - Bend, Sprocketlock, 14-Degree

(TN

Side View

[T TN

Top View
Dimension Table
Dimension A B
Inches 1.65 | 4.37
Millimetres 42 111

Front View
Parts Table
Qty | Code | Name

11817 | 14-Degree Bend 1

11818 |14-Degree Bend 2

1 | AO4 | Plug, Sprocketlock

1 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw
1 | T80 | Sprocket

Assembled View

Disassembled View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

For All Walks of Life

promenaid

Promenaid

(888) 992-4942
customerservice@promenaid.com
https://promenaid.com




C32 - Bend, Sprocketlock, 32-Degree

[T TN

Side View

[T TN

Dimension Table

Dimension A B
Inches 165 | 2.32
Millimetres 42 59

Front View
Parts Table
Qty | Code | Name

11819 | 32-Degree Bend 1

11820 |32-Degree Bend 2

1 | AO4 | Plug, Sprocketlock

1 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw
1 | T80 | Sprocket

Disassembled View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

promenaid

For All Walks of Life

Promenaid

(888) 992-4942
customerservice@promenaid.com
https://promenaid.com




C90 - Bend, Sprocketlock, 90-Degree

A

Front View

Disassembled View

Parts Table
Qty | Code | Name
1 1821 |90-Degree Bend 1 Assembled View
Dimension Table 1 1822 |90-Degree Bend 2 .
Dimension | A | B | C 2 [ A04 | Plug, Sprocketiock g;tg-;‘;’ 18;:35:/ :;3101ch/;;; g’;’t’;f: y
Inches 165 | 3.15 | 2.32 2 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw A Sw——
Millimetres | 42 80 59 1 | T80 | Sprocket p rom e n (888) 992-4942

' customerservice@promenaid.com
For All Walks of Life https://promenaid.com




Assembled View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

| ////\)”—\/—\l \\\\\
— I S RO1 AN
— ! | { — 2
I r~ (M) Y
| S S
l (l_\ [_' 7 /II//I
| \ \\ N r /,
| AN %
| ~ -
' q
|
|
F |
—t= |
. R :
|
O ©)- ' g
Q
ﬁ _J
%
Side View Parts Table
Qty | Code | Name
1 | 763 |L-bracket
g Al —
B 1 | PH |Pivoting Head
fa———F—jo0 1 | SA8 | Screw, S-S, 8 x 3/8" Truss Phil
Front View | [
| e H -
Dimensions Table
Dimension A B C D E F G H J
o] ®
Inches 157 | 500 | 055 | 200 | 028 | 098 | 1.5 260 | 3.00 promen
Millimetres 40 127 14 51 7 25 38 66 76 For All Walks of Life

Promenaid
(888) 992-4942

customerservice@promenaid.com
https://promenaid.com




B02 - L-Bracket, Sprocketlock, Channelgrip

Side View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

NS | @
Assembled View Front View

Parts Table
Qty | Code | Name
1 | 8231 | L-bracket, Bottom
1 | 8241 | L-bracket, Top Dimensions Table
1 | A04 | Plug, Sprocketlock Dimension A B C D
1 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw Inches 390 | 165 | 260 | 1.50
1 | T80 | Sprocket Millimetres 99 42 66 | 38

promenaid

For All Walks of Life

Promenaid

(888) 992-4942
customerservice@promenaid.com
https://promenaid.com




B03 - L-Bracket, Sprocketlock, S40

.

Side View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

il [}
{
L
|
|
|
| <
|
}
///
/
~— 1 Q
Assembled View Front View
Parts Table
Qty | Code | Name
1 18232 | L-bracket, Bottom, S40
1 | 8242 | L-bracket, Top, S40 Dimensions Table
1 | A04 | Plug, Sprocketlock Dimension A B C D
1 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw Inches 3.90 | 165 | 260 | 1.50
1 | T80 | Sprocket Millimetres 99 42 66 | 38

promenaid

For All Walks of Life

Promenaid

(888) 992-4942
customerservice@promenaid.com
https://promenaid.com




B04 - T-Bracket, Sprocketlock, Channelgrip

Assembled View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

<
Parts Table

Qty | Code | Name
1 | 8251 | T-bracket, Female
1 | 8261 | T-bracket, Male Dimensions Table
1 | A04 | Plug, Sprocketlock Dimension A B C D
1 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw Inches 217 | 165 | 063 | 3.1
1 | T80 | Sprocket Millimetres 95 42 16 79

promenaid

For All Walks of Life

Promenaid

(888) 992-4942
customerservice@promenaid.com
https://promenaid.com




B05 - T-Bracket, Sprocketlock, S40

RO2
C
=~
Q
<
1
Front View Side View Assembled View
Parts Table
Qty | Code | Name
1 18252 | T-bracket, Female, S40
1 | 8262 | T-bracket, Male, S40 Dimensions Table Note: All scales at 1:1 when printed
1 | A04 | Plug, Sprocketlock Dimension A B C D on 8.5 x 11" unless otherwise stated
1 | FO5Z | M5 0.8 x 16mm Socket, Cap Screw Inches 197 | 165 | 051 | 3.11 o pe Promenaid
1 (780 | Sprocket Milimetres | 50 | 42 | 13 | 79 promena‘l‘&l.d customerserice @aamoncid ton

For All Walks of Life

https://promenaid.com




Profile

R0O1 - Railing

J—

Length to Suit

Side View

R02 - Pipe, Schedule 40, 1.66 OD

Profile

Rendered Views 0

!

o Length to Suit o
Side View
Dimension Table
Dimension A B C D
Inches 165 | 067 | 057 | 0.13
Millimetres 42 17 14 4
) ® Promenaid
Note: All scales at 1:1 when printed p r0m e n (888) 992-4942

on 8.5 x 11" unless otherwise stated

For All Walks of Life

customerservice@promenaid.com

https://promenaid.com




RO03 - Railing

(s

| Length to Suit

Profile Side View

Dimension Table
Dimension A B C
Inches 1.90 | 1.61 | 0.145
Millimetres 48 41 4

o e Promenaid
. . - (888) 992-4942
Rendered View Note: All scales at 1:1 when printed p rome n

customerservice@promenaid.com
on 8.5 x 11" unless otherwise stated For All Walks of Life o

https://promenaid.com




101 - Endcap, Channelgrip, Flush

f———————

( )

i

Side View

102 - ADA Return, Channelgrip

D

F

(A |

!

Front View

Rendered View

@

In

1

Back View

Parts Table (T02)

Qty

Code

Name

768

ADA Return 1

769

ADA Return 2

770

Endpiece 1

Side View

77

Endpiece 2

JEEENG I G [ U R N I §

SA7

Screw, ZN, 7 x 3/8 Pan
Phil "B", Blunt End

Dimension Table
Dimension A B C D E F
Inches 138 | 142 | 290 | 353 | 1.26 | 2.65
Millimetres 35 36 74 90 32 67
Promenaid

promenaid

For All Walks of Life

(888) 992-4942
customerservice@promenaid.com
https://promenaid.com




103 - Cap, Sprocketlock

B
—|<—>|
T4
1/4" - 20 tapped
<
L [
Rendered View Side View Front View Back View
104 - T-Connector, Sprocketlock
C
N —
D
—|<—>|
g e :
< H RO2 g
Rendered View Side View Front View Back View
Dimension Table Parts Table (T04) Note: All scales at 1:1 when printed
Dimension A B C D E Qty | Code | Name on 8.5 x 11" unless otherwise stated
Inch 165 | 067 | 057 | 0.13 | 0.28 11830 |TC t o e Promenaid
n? . es onnector _ __ p ro m e n 3181 d (888) 992-4942
Millimetres 42 17 14 4 7 1 | F09Z ScreW, Self-dn”lng, 1/4" x 1 customerservice@promenaid.com

For All Walks of Life

https://promenaid.com




Rendered View

Side View

105 - 1/2" Spacer

106 - Channelgrip Connector

&)
Rendered View Front View
Dimension Table
Dimension A B C D E F G H J
Inches 165 | 051 138 | 028 | 020 | 016 | 1.22 | 0.98 | 0.83
Millimetres 42 13 35 7 5 4 31 25 21

For All Walks of Life

Front View Back View
C
"
(I
= 2 = U
O
| — O
G
I —
Side View Top View
Parts Table (T06)
Qty | Code | Name I1Vc1>te:h All scglfsdat
, :1 when printe
11829 | Channelgrip Connector on 8.5 x 11" Unjess
1 | FO6Z | Screw, ZN, 7 x 3/8 Pan Phil "B", Blunt End otherwise stated
.0 % Promenaid
p rome n (888) 992-4942

customerservice@promenaid.com
https://promenaid.com




Rendered View

Rendered View

1/4" Thread,
1-1/4" Long Hex Bolt

Front View

107 - Pipe Connector

}

M
L
I

¢

Side View

180 - Sprocket

[T T T \
(I

Side View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

==

{L01 I
L

cldt Ji L i

)
I

~ L

wr
LI

Back View Assembled View
Parts Table (T07)

Qty | Code | Name

1 1829 | S40 Connector

1 | FO6Z | Screw, Hex, 1/4-20 x 1-1/4"

1 | FO7Z | Nut, 1/4-20

Dimension Table

Dimension A B C D E
Inches 138 | 142 | 028 | 0.2 | 0.39
Millimetres 35 36 7 ) 10

promenaid

For All Walks of Life

Promenaid
(888) 992-4942

customerservice@promenaid.com

https://promenaid.com




A05 - Rosettte A11 - O-Ring

Dimension Table
Dimension A B C D

Inches 327 | 024 | 0.28 | 3.11
Millimetres 83 6 7 79

o _® Promenaid
Rendered View Note: All scales at 1:1 when printed p rome n (888) 992-4942

t i id.
on 8.5 x 11" unless otherwise stated For All Walks of Life customerservice@promenaid.com

https://promenaid.com




A14 - 1.9in Rosette

Rendered View

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

A15 - O-Ring

For All Walks of Life

Dimension Table
Dimension A B C D
Inches 190 | 0.27 | 0.35 | 1.90
Millimetres 48 7 9 48
o no Promenaid
p romen (888) 992-4942

customerservice@promenaid.com
https://promenaid.com




Rendered View

Elevation View

T11 - Post Base

Plan View

D

Dimension Table
Dimension A B C
Inches 3.5 1.0 | 21 0.3
Millimetres 89 25 53 8

Note: All scales at 1:1 when printed
on 8.5 x 11" unless otherwise stated

promenaid

For All Walks of Life

Promenaid
(888) 992-4942

customerservice@promenaid.com
https://promenaid.com




WA - Wall Adapters

B
e
.
i a R T
0)o(0)
O
<<
O
0(©)o
Rendered View
| J i
Front View Side View

Dimension Table

Dimension A B C

Inches

323 | 1.80 | 1.00

Millimetres 82 46 25

] ®
Note: All scales at 1:1 when printed p rom e n

on 8.5 x 11" unless otherwise stated For All Walks of Life

Promenaid

(888) 992-4942
customerservice@promenaid.com

https://promenaid.com




	No. 0001 - Promenaid Assembly Drawings
	No. 000 - Promenaid Assembly Drawings
	No. 000 - Promenaid Assembly Drawings
	No. 000 - Promenaid Assembly Drawings
	Assembly Drawings - Brackets
	Sheets and Views
	Assembly Drawings - Brackets-B01
	Assembly Drawings - Brackets-B02
	Assembly Drawings - Brackets-B03
	Assembly Drawings - Brackets-B04
	Assembly Drawings - Brackets-B05


	Assembly Drawings - Collars
	Sheets and Views
	Assembly Drawings - Collars-C00
	Assembly Drawings - Collars-C05
	Assembly Drawings - Collars-C14
	Assembly Drawings - Collars-C32
	Assembly Drawings - Collars-C90


	Assembly Drawings - missc
	Assembly Drawings - missc
	Sheets and Views
	Assembly Drawings - missc-R01 & R02
	Assembly Drawings - missc-T01 & T02
	Assembly Drawings - missc-T03 & T04
	Assembly Drawings - missc-T05 & T06
	Assembly Drawings - missc-T07 & T80
	Assembly Drawings - missc-A05 & A11


	No. 013 - T05 & T06 Assembly Drawing
	Sheets and Views
	Assembly Drawings - missc-T05 & T06




	No. 017 - T10 Assembly Drawing
	Sheets and Views
	Assembly Drawings - T10-T10 Post Base



	No. 011 - T01 & T02 Assembly Drawing
	Sheets and Views
	Assembly Drawings - missc-T01 & T02



	No. 021 - T11 Assembly Drawing
	Sheets and Views
	Assembly Drawings - T11-T11 Post Base



	No. 018 - R03 Assembly Drawing
	Sheets and Views
	R03-R03


	No. 019 - A14 & A15 Assembly Drawing
	Sheets and Views
	R03-R03 (2)


	No. 020 - WA Adapter Assembly Drawings
	Sheets and Views
	Wall Adapters-R01 & R02



